#7
Mgmt 380

Assignment #5

Building and solving Integer Linear Programming models

20 points

DUE:  October 7

You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.b. on handout #1).

If you choose the “team of two” option on other assignments, you must work with at least three different people throughout the semester.

Part 1
Bob Cat has inherited $500,000 and wants to invest in beach units (which he intends to rent) and land (which he will lease to various organic farmers).  He estimates that he will receive an annual return of $8,000 for each beach unit and $6,000 for each acre of land.  A beach unit costs $70,000.  The cost of land is $30,000 per acre.  For yearly maintenance and upkeep, a beach unit will cost $1,000 and an acre of land will cost $2,000.  Bob wants to know how much to invest in beach units and land in order to maximize his annual return.

Formulate and solve (with STORM) a Mixed Integer Programming model.

Part 2
You are trying to decide among a collection of events to attend this Saturday night.  Imagine that you have three possibilities and can choose only one of them.  Your objective is to minimize cost within a set of three constraints.  Create a 0-1 Integer Programming model with at least 3 decision variables (for the 3 possibilities) and at least three constraints.

Formulate and solve (with STORM) this 0-1 Integer Programming model.

Your assignment must include the following:

1)  the linear programming model for part 1

2)  the STORM printout for part 1

3)  the executive summary for part 1

4)  the linear programming model for part 2

Be sure to make the problem description very specific and detailed for part 2.

5)  the STORM printout for part 2

6)  the executive summary for part 2

7)  all other requirements for assignments stated on handout #1

